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4.

1. TOR ̂  3i?T:ysio41ii 3.

(A) (^.3m.)
■5ft#T ^>(r|tiU| I, ̂
aMi4-ci<4

(B) (f.sm:.)
(TTli^Wff^) 3^

^ftddcl^ ̂  cK? ̂  3T3^T^
(^ra^^HcT) 3TRRT t

(C) ^l(^=hl
(3TR.i3m.) 3fr^k t,

I^dril 3Tci:'g^^fhT ^iRi^m
(T3Fi.3TK.) IcTfte 3qTWT 3ft^

^^FTTI 5.
(D) 313^ 3W:y;(o41rM xi|iRict,|

(i3TR.) 37cT:3r^5#T vj||Richl
(TiF-i^.) t ̂  Ca^^%
%#nT t

2. ^l/'RF ̂ ii^Knd ^ "t
(A)

^ arilRd ^^FfT
(B) ^1 3m^% 3TF'^

^  ̂ ^ 3IKF ̂
3TT^ ^

(C) ^1
Ffel ̂  ^ FRF 30^

(D) ^0 ^ ̂  % t^f
^ chlRld,! ̂  FRF ̂  3rFt ̂  ̂

6.

chlRld>I ^ ̂ ftR^ ^ FF ̂
i^RT% ̂  Fm T# ̂  f ?
(A) ^ "R %^1^FF "gRT
(B) dili^dF
(C) "M^T^fW^T II
(D) it iR^TTT iMfttef

FiR^ ftFRR (FT^itfeF) % %F

^RRFWcTWI ?
(A) ito
(B) ^31%^
(C) Tj^nfer
(D)

f^FRR % -^m F^-clH^ltd
W t ?

(A)
^RcTT t

(B) ^ FTRJ^ I^FRR i^rg^ ̂
^5it^ t

(C) ^ ^ 1^Ft1^ ^R% ^
FHfe ^IRlchllJ^RRn t

(D) ^ 3^ ̂ JURI^ ^ ̂  arR Flf^T^
Hr^ ̂  3^: ^")gdi "I

RnRifed ̂  t ̂-FT ̂ ttfelg ^Rd4l^"l^di
t ?

(A) lidlR'MH
(B) ifsi-MH
(C)

(D) fe^R'MH
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1.

PAPER - II

BOTANY

The structural and functional 3.

diversity of endoplasmic

reticulum (ER) is reflected across

different cell types as'

(A) ER is only for protein

synthesis, not lipid

metabolism

(B) ER imports protein

post-translationally

like mitochondria and

chloroplasts

(C) RER sjmthesizes protein; SER

handles lipid metabolism and

detoxification

(D) Translational ER is a SER

region for Ca^"^ storage

m 4.

5.

2. The function of Gl/S cyclins is to

(A) Activate CDKS to stimulate

chromosome duplication

(B) Activate CDKS in late G1 stage

to trigger progression through

start cell cycle

(C) Activate CDKS in early G1 g,

stage to trigger progression

through start cell cycle

(D) Activate CDKS in GO stage to

trigger progression through

start cell cycle

The sister chromatids are

primarily held together during
cell cycle by

(A) DNA catenation

(B) Cohesion complex

(C) Topoisomerase II

(D) DNA polymerase

At which stage of mitosis do
the chromosomes align at the
equator of the spindle, midway
between the spindle poles ?

(A) Prophase

(B) Metaphase

(C) Anaphase

(D) Telophase

What is the role of contractile

ring during C3rtokinesis ?

(A) It facilitates movement of
chromosomes to the poles

(B) It assembles the mitotic
spindle

(C) It divides cytoplasm into two
to create two daughter cells

(D) It reassembles the nuclear
envelope around the daughter
chromosomes

Which of the following periods
does not belong to Paleozoic era ?

(A) Devonian

(B) Cambrian

(C) Cretaceous

(D) Silurian

1824-A [ P.T.O.



7.

9.

10.

11.

^ H^KIri^ch y(rl^f^ I^^lcH f 3^^ %
^FT ̂  ̂  ^ t ?

(A) ^1^^

(B)

(C) ^49^1-d

(D)

"S

(A)

(B) IRitFT^F^
(C) PhiI^hh
(D)

RMfdfed ^ ^

(A) FfM ̂  aftr ̂ Te# ̂  t
(B)

(C) ̂ ^IzwffR^Wtl
(D) tM ^ f

RnldR^d ̂  ̂ ^

(A)

(B) ^ 3^ ^ "^Rn "I

(C) ^Pb^-H ̂  jildi<+>i< ferrrf ̂

(D) f|#T^ **5rFTf^ Wt I

^ Ffeif ̂  t

(A) -ferr^

(B)

(C)

(D)

12.

14.

15.

16.

1824-A

(3TTf^jM ̂  % ̂T^) i%^T
3T^% WM^ ?

(A) ̂

(B) ̂

(C) ̂

(D)

13. wwjfi ̂  ̂

% I^FFR ̂  3q-diRd ̂ OTT ̂5rT?rr t, eft ̂

"t

(A) ^cll41

(B) ̂
(C) #
(D) ellel

Tm^T % *r iinr

W t
(A)

(B)

(C) w ̂
(D)

3Ttof^ 3FJt ̂  if ^

<t^dldl t

(A)

(C) -QTitTpM
(D)

Fttst ^Pnft i^ ^ %F%

(A)

(B)

(C) ftm
(D)



7.

8.

9.

10.

11.

In which t5^e of fossils, the rock 12.
upon splitting shows negative
replica and all the surface of the
plant part is involved ?

(A) Casts

(B) Petrifaction

(0) Compressions

(D) Impressions

13
Seed ferns belong to which of the
following ?

(A) Cycadales

(B) Pteridospermales

(C) Ginkgoales

(D) Coniferales

Which of the following is not true
about ephedrales ? 14^

(A) The leaves are small and scale
like

(B) Stem is photosjmthetic

(C) Embryo sac is tetrasporic

(D) Plants are dioecious

Which of the following is not
correct about coniferales ?

(A) There is a tap root system

(B) They have dwarf shoots and
long shoots

The tracheids bear circular(C)

15.

(D) Secondary wood is manoxylic

bordered pits

The arrangement of leaves in the
bud is known as

(A) Phyllotaxy

(B) Ptyxis

(C) Pyxis

(D) Prefoliation

16.

What type of pollination are

orchids (Members of family

orchidaceae) adapted to

(A) Air

(B) Insects

(C) Water

(D) Birds

When treated with tetrazolium

salt solution, the viable pollen

grains turn

(A) Pink

(B) Black

(C) Green

(D) Red

In com grain, the proteinaceous

food is stored in

(A) Endosperm

(B) Embryo

(C) Aleurone layer

(D) Radicle

The development of unfertilized

egg into embryo is called

(A) Apogamy

(B) Parthenogenesis

(C) Apospory

(D) Heterospory

Potato spindle tuber disease is

caused by which of the following ?

(A)

(B)

(C)

(D)

Bacterium

Viroid

Prion

Virusoid

1824-A [ P.T.O.



17.

(A) -377^27#/^

(C)

(D)

18. "f^ ̂  ̂ dTR^H t ?

(A)

(B) 47^A<yy

(C)

(D)

19. ftR ̂ t ^ "4Rth^

^<[%?T <5^1 ̂  ?

(A) ̂

(B)

(C) "sit^T

(D) ̂

20. ^ 3T^ ̂  ch^dldl

(A) *7^

(B)

(C) wAfWr

(D) 'ii\^<

1824-A

21. RmRhR^cI "S ̂  ^ % "^ "^

(A) W7 ^ 3TF7cft7: ̂  H^KlcH^h

"f^^ ̂Idl ̂

(B) ̂  WRTT % 3735fR TTPft "fe#

^  t ̂  t

(C) "TFft "RtR ̂  ^ 3TfT

•nS'll

(D) ̂ TW, tM

w  ̂ 41ji<h ̂  f

22. ft̂ fed^t^37TO:

irfrT^ % i^HTfr IK cRcT ̂  ̂3^

WT"! ?

(A) M<W<U|

(B)

(C) KMtKI*

(D) ipr ^ld=bdl

23. ft|t % ^ ^ ̂

ch^dlcH t ?

(A)

(B)

(C)

(D)



17. Sickle-shaped conidia are

formed, in which of the following ?

(A) Altemaria

(B) Helminthosporium

(C) Penicillium

(D) Fusarium HBE

18. Ergot toxins are produced by

which of the following ?

(A) Aspergillus parasiticus

(B) Claviceps purpurea

(C) Geotrichum candidum

(D) Chaetomium globosum

19. Nucleic acid core of virus is

protected by which of the

following ?

(A) Fat

(B) Carbohydrates

(C) Protein

(D) Glucan

20. The nonmotile male gamete of

Rhodophyceae is called

(A) Monospore

(B) Carpospore

(C) Spermatium

(D) Tetraspore

21. Which of the following is not true

about water potential ?

(A) Plant cells typically have

negative water potential

(B) Water enters or leaves a

cell according to the water

potential gradient

(C) Water will move from low to

high water potential

(D) Concentration, pressure and

gravity contribute to water

potential in plants

22. Plants that develop root pressure

frequently produce liquid

droplets on the edges of their

leaves. This phenomenon is

known as

(A) Osmosis

(B) Guttation

(C) Transpiration

(D) Soil hydraulic conductivity

23. The technique of growing plants

with their roots immersed in a

nutrients solution without soil is

called

(A) Aquaculture

(B) Aeroponics

(C) Hydroponics

(D) Micropropagation

1824-A [P.T.O.



24. PlHRdfed ̂  ̂

% ̂kR ^ ̂

.irtlRd t ?

2-W^t^cTf^^ -> WFtfTT^

27,

(A) T3?fr^

(B)

(C)

(D)
28.

25. Rnlcdfikd ^ cil^cbNlRnlolch
■qJ^T^ ^ ^ ylrllsb'Miafi ̂
■^T^ ^ "I ?

(A) ;f^ 1^ ̂  ->

(B) ^37Tf^\fe|s—> 2 3fN^Wj^
—> ^13; -> ;f^ 29.

(C) 3^Td^d\^Jd ->1^ ̂
—> 4H®HRd —> I^H

i^H
(D) —>

2  —>
30.

26. ^mrtoT ̂

(A)

(B) -felT

(C) wM

(D)

1824-A 8

M'Mkj.ui 3Tflrf^, 1986 ̂

?JKr (3^5^) "M-Mtdiui" ^
qNiftd fen w t ?

(A) ??KI2(^)

(B) ^2 pi)

(C) ^2pT)

(D) ?TTTr2p)

iprm ̂  F^Rm I ?

(A) (34J]di<u|)

(B) (OTft FR

(C) (^: ̂

(D) 3M<letd F^



24.

25.

26.

Which of the following enzyme
catalysis the reaction mentioned
below during glycolysis ?
2-Phosphoglycerate —> phosphoenol
pjonvate

(A) Enolase

(B) Phosphoglycerate kinase

(C) Phosphoglycerate mutase

(D) Pyruvate kinase

Which of the following is a
correct sequence of reaction
taking place during Tricarboxylic
acid cycle ?

(A) Isocitrate ̂  Citrate

Succinate —> Fumarate ̂

Malate ̂  Oxaloacetate

(B) Citrate Isocitrate —>

2 Oxoglutarate —> Succinyl

Co A —> Succinate ̂

Fumarate

(C) Oxaloacetate —> Citrate —>

Isocitrate —> Succinyl Co A

Succinate —> Fumarate

(D) Citrate ̂  Isocitrate —>

2 Oxoglutarate —> Succinate

—> Fumarate ̂  Malate

27. "Environment" word is defined

in which Section (clause) of

Environmental Protection Act,

1986 ?

(A) Section 2(a)

(B) Section 2(b)

(C) Section 2(c)

(D) Section 2(d)

28. Which is related to pedogenesis ?

(A) Humification

(B) Eluviation

(C) Illuviation

(D) All of the above

29. Ozone layer is found in

(A) Troposphere

(B) Stratosphere

(C) Mesosphere

(D) Thermosphere

30. Which National Park in M.P. is

renowned for its highest density

of Bengal Tigers ?

consumer ? (A) Kanha

(A) Hawk (B) Bandhavgarh
(B) Grasshopper

rniDr^l

(C) Pench
(C) Rabbit

(D) Grass (D) Satpura

1824-A [ P.T.O.



31. DNA ̂ ^

^ t ?

(A) ^ TK 313^ ̂  ̂  t

(B)

(C) ^ 3?^ ̂  ̂TTTFT t

(D) Tt^ ̂  ̂  T7K 3l^^TT ̂

32. RnRiR^d ^ :

1. ^T^5FR 3MIf^ ̂  ̂W?T DNA ■#
f^3TFlTEft ^"<-cHI ^ B-DNA W

t I

2. A^ Z-DNA'^

"^tcTT 11

3. A-DNA, B-DNA ^ ̂  3^ ̂
t I

4. A,

B^ Z-DNATf I

3H^«W ^ ̂  t ?

(A) 1-^3

(B) 1,2^3

(C) 1,2^4

(D) 2, 3 ̂  4

ill
sfs

33. ^ WK W ̂ Vtrll^ci

"^f ?

(A) 5' "ftft ^

(B) ^ 3' "ftft ^

(C) "51^ 3fte5n^ ^ ̂3TRT ^

(D) 'mil % ̂  ̂

34. arfli^TRT 41cii(u^c4i ynlciJ ̂  -lo

(A) (^ Ti^nfiT + "ftror

(B)

(C)

(D) (B)^(C)^

1824-A 10



31. Hairpins are formed in DNA as a
result of

(A) Sequences on the opposite
strand that are complements

(B) Sequences on the same strand
that are identical

(C) Sequences on the opposite
strand that are identical

(D) Sequences on the same
strand that are inverted and

complementary

32. Consider the following
statements :

1. The three dimensional structure

of DNA described by Watson
and Crick is termed as B-DNA.

2. A and Z-DNA have left handed

helix.

3. A-DNA is shorter and wider

than B-DNA.

4. Base pairs in per turn of helix
are equal in A, B and Z-DNA.

Which of the above statements are

correct ?

33. Primers are synthesized where on

the lagging strand ?

(A) Only at the 5' end of the newly

synthesized strand

(B) Only at the 3' end of the newly

sjmthesized strand

(C) At the begining of every okazaki

fragment

(D) At multiple places within an

okazaki fragment

34. Most bacterial promoters have

a - 10 consensus canonical

sequence called

(A) Holoenzyme (core enzyme +

sigma factor)

(A) 1 and 3 (B) Core en2yme

(B) 1, 2 and 3 000
(C) Pribnow box

(C) 1, 2 and 4

(D) 2, 3 and 4 (D) (B) and (C) both

1824-A 11 [ P.T.O.



35. ̂  ~

# I
^-I

(RNA^^)

1. sn3TRW

3mQ?TTT)

2. mi3TTTW

3. cr3TKtT^

3TKQ?T^)

4. t3TRW

^-11

pjni)

i. f^DNA^

WfrTT

ii. "Sn^rft^ m-RNA

iii. m-RNA %

3h^cii(; ̂  ft4i4T

iv.

3TRt??PT) STTftrr

wrt

:

1 2 3 4

(A) i ii iii iv

(B) iii ii i iv

(C) ii iii iv i

(D) ii iii i iv

36. ^Rto9^ ̂  3Rf t

(A) WTT^ ^ ̂Hid<u|

(B) 4^1R|4>1 ̂  ̂^Hidiui

(C) TTim-S * ̂5miOT

(D) ^

37. ^T^(YAC)^4^5:^Mtjdl RnlcdR^d

^ ̂ ^ t ?

(A) TT3TW 3ftc Tnfeft4

(B) hi4)<41h

(C) T?;3TW

(D) ^tfq^ tj:3tw

38. RnRdRyd ̂  ̂ ^ 4fWf4

I ?

(A)

(B) 3^1^

(C)

(D)

39. RnfdR^d ̂  ̂ ̂-"HT ̂  ̂3^

?

(A) TT^^siWm

(B)

(C) tliU^^hflqRT

(D)

1824-A 12



35. Match List - I with List - II and
select the correct answer using
the code given below the list.

List - I

(Class of RNA)

1. snRNA

(Small nuclear
RNA)

2. miRNA

(Micro RNA)

3. crRNA

(Crisper RNA)

4. tRNA

(Transfer RNA)

List - n

(Function)

i. Assists

destruction

of foreign DNA

ii. Processing of

Pre-mRNA

iii. Inhibits

translation of

mRNA

iv. Helps

incorporate

amino acids

into

polypeptide
chain

Code 1

1 2 3 4

(A) i ii iii iv

(B) iii ii i iv

(C) ii iii iv i

(D) ii iii i iv

36. Organellar transformation means

(A) Gene transfer into the nuclear
genome

(B) Gene transfer into the cell
(C) Gene transfer into culture

medium

(D) Gene transfer into plastid
genome of host cell

37. YAC vectors characterized by the

presence of which of the

following ?

(A) TEL,CEN,ARS and marker

genes

(B) TEL and marker genes only

(C) ARS and centromere only

(D) TEL and ARS only

38. Which of the following is not a

plant transformation technique ?

(A) Agrobacterium

(B) Floral dip

(C) Laser perforations

(D) Somatic embryogenesis

39. Which of the following is not a

biofertilizer ?

(A) Rhizobium

(B) Trichoderma

(C) Rhodopseudomonas

(D) Pseudomonas

1824-A 13 [ P.T.O.



40. Rnfoifed ^ ̂

-dcHlIqd (wfrfldt^)
kdlKid> t ?

(A) ^TTeftft^TT^ chiqPcl

(B) MKrfl^^i^c^ld 'Qii^dilcl

(C) 0^h
(D) TRT^^-5-feTO^

42.

44.

41. MlWt^(d'4>i ■?T5> ^ ^
(A) (1917)
(B) ^^T?:^(1927)
(C) eftf^(1840)
(D) (1905)

31^^-4 ^ ^l4Md: "fed^ %
"^tcTT "I ?

(A) 11 3^ 9 % ̂
(B) 8 3^6%^
(C) 3 aftr 6 t
(D) 2^^

43. yfdr % 'wO'=t><'J| %
^£?T Wf ̂  ̂  ̂  ̂ ̂
^ 3lk "^idT t
(A) -

^l^4)[ciPl4H
(B) -

(C) -

smfdWi
(D) -

45.

46.

^ ̂  % ddf ^
^  ̂jTTdT "t

(A) ^SiTR
(B) ^cfdH
(C)

(D)

Rnlodfed ^ d^T-'HT 'dT^' y)ci)d)M ^
?

(A)

(B)

(C)

(D) 3M<ldd ^

^ ̂ RnR^fed ^ ̂

(B) % iTTIdtdTtf^ "9,
2-43T'Wj1Jdl^d>")r^d 4)TAivd,

^  ■? viclRd "diW t

(C) Hl^dld)ir^41 dit, 3n^T^
^ 3Tmftd? ^ TJ^

% TTim ̂  ̂ 5^ t 3^1
Miicii

(D) Wq^^iln ■?, 3fN^ft^,
O2 ̂  % 3iTWlct,<u| ^
3rtlRd WT t, H2O2 3^^
^3lMt^ ̂  3<^ldH ^ t

1824-A 14



40.

41.

42.

43.

Which of the following

is microbially produced

biodegradable plastic ?

(A) Poljmiethyl carbonate

(B) Polyethylene glycol

(C) Polyhydroxybutyrate

(D) Ribulose-5-bisphosphate

Who developed the concept of

Ecological p5n-amid ?

(A) Joseph Grinnel (1917)

(B) Charles Elton (1927)

(C) Liibig(1840)

(D) Blackman (1905)

The acid rain pH usually varies

between

(A) 11 and 9

(B) 8 and 6

(C) 3 and less than 6

(D) Below 2

The order of different layers with

respect to thermal stratification
• of deep lentic water from top to
bottom is

(A) Epilimnion - Thermocline -
Hypolimnion

(B) Hypolimnion - Thermocline -
Epilimnion

(C) Epilimnion - Hypolimnion -
Thermocline

(D) Thermocline - Epilimnion -
Hypolimnion

44. Organisms living on the bottom

of the sea, lake and deep water

bodies are called

(A) Benthos

(B) Nekton

(C) Nanoplankton

(D) Macroplankton

45. Which of the following is related

to 'NAGOYA' protocol ?

(A) Pharmaceutical industry

(B) Soil conservation

(C) Biological diversity

(D) All of the above

46. Which of the following is true

about photorespiration ?

(A) Glycine exit the mitochondria
and enters the peroxisomes

(B) In mitochondria of land
plants 2-phosphoglycolate
phosphatase catalyzes the rapid
hydrolysis of 2-phospoglycolate
to glycolate

(C) Glycolate leaves the
mitochondria through a

specific transporter in the
envelop inner membrane and
diffuses to the peroxisomes

(D) In peroxisomes, glycolate
oxidase catalyzes the

oxidation of glycolate by

Og, producing HgOg and
glyoxylate

1824-A 15 [ P.T.O.
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47. Which of the following is not true

about transport of auxins ?

(A) Polar transport is a unique

feature of auxins

(B) Auxins show acropetal

transport in shoot

(C) Acropetal transport occurs

through vascular and cortical

tissues

(D) Polar transport involves specific

protein carriers

48. Which of the following is not a

effect of ethylene in plants ?

(A) It promotes leaf abscission

(B) It induces flowering in

pineapples

(C) It inhibits growth of root and

root hairs

(D) It breaks seeds and bud

dormancy

49. Which of the following is a long-

day plant ?

(A) Nicotiana Tabacum

(B) Melilotus Alba

(C) Oryza Sativa

(D) Xanthium Strumarium

50. Which of the following is not

correct about terpenes ?

(A) Mevalonic acid pathway and
methylerythritol phospate

pathway are two pathways

for terpene biosynthesis

(B) GibbereUins are sesquiterpenes

(C) Some of the terpenes are toxins
and insecticidal

(D) Monoterpene esters

called pyrethroids occur

in leaves and flowers of

Chrysanthemum species

51. In onion and garlic, the food is
stored in

(A) Fruits

(B) Roots

(C) Stems

(D) Leaves

52. Velamen tissue meant for

absorption of moisture from air is
found in

(A) Orchids

(B) Vanda

(C) Both (A) and (B)

(D) Neither (A) nor (B)

53. The inflorescence of family

asteraceae is

(A)

(B)

(C)

(D)

Cyathium

Capitulum

Umbel

Spadix
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54. ^

Br © ̂  K(5) C^A5 G(2)

(A) itmM

(B)

(C) MM

(D)

55. 3TT^cTM M % TTT^

(A)

(B)

(C) ̂

(D)

56. M ̂  "fM% ̂  ^

sft ?

(A)

(B) ̂ TOTn^-fM

(C)

(D) fMcxr^M:^

57. ̂  ^ M ̂

Ml ?

(A) /q'W'^

(B) 377M*77 377cMer

(C)

(D)

58. M ̂  3{N5 ̂

^  Mitt) M ?

(A)

(B)

(D) M

59. ^ Mr ^ f,

"I

(A) MzMl

(B)

(C)

(D) ■tTfMMT

60. M ̂ ̂  Mw #Pf^ "JTim M'
HNI -^icll ?

(A)

(B)

(C)

(D) ^7^

61. "Principles of General Morphology

of Organisms" t ?
(A) elnii
(B)

(C) siHh

(D)

1824-A 18



54. Following floral formula

Br © ̂  K(5) C(^5 ̂
belongs to family

(A) Malvaceae

(B) Solanaceae

(C) Brassicaceae

(D) Asteraceae

55. Female gametophyte in

angiospermic plants is called

(A) Embiyo sac

(B) Endosperm

(C) Embryo

(D) Megaspore

56. Transformation was discovered

by which the following ?

(A) Lederberg and Tatum

(B) Watson and Crick

(C) Griffith

(D) Zinder and Lederberg

57. Red rust of tea is caused by

which of the following ?

(A) Cephaleuros Virescens

(B) Altemaria Altemata

(C) Tolypothrix tennis

(D) Porphyra lacinata

05

58. Yellow rust of wheat is caused by

which of the following ?

(A) Puccinia recondito

(B) Puccinia strifojmis

(C) Puccinia graminis f.sp. tritici

(D) Uromyces fabae

59. Phages which show lysogenic

cycle one called

(A) Temperate phages

(B) Virulent phages

(C) Zymo phages

(D) Actino phages

60. Oogamous sexual reproduction

is not found in which of the

following ?

(A) Laminaria

(B) Dictyota

(C) Ectocarpus

(D) Fucus

61. The author of the book entitled

"Principles of General Morphology

of Organisms" is

(A) Lamarck

(B) Ernst Haeckel

(C) Charles Darwin

(D) Ernst Detlef Schulze
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62.

63.

64.

^ mkwR^ llRnaTr % %iT -^{^m

w t ?

(A) ^ 3TTO ̂  ̂  fi3; 3fRiR^
1^3Tf % vjlliddl ̂  f, ̂
WT, WI ̂yi^3Tf ̂

1

(B) 37mT^R[wM3F2T^Bq^Wt| 66.
Ricbid 3TTmT 3fR

^ ̂sTT^ ̂  I

(C) WiW W3TT^

MTfM

I

(D) "ff t ̂  ̂ 67.

3135m ̂  "ete w I ?

(A) ̂  3H MTfM ̂  ̂  ̂ t
^ ̂ 3?? ^ ^

Ri-MI "I

(B) ̂  ̂ ̂  3^: 3^jTFR
3T^^TT^ ̂  ^ ^H'^ai t

(C) 3HjsbHU| ̂  37^^^^ 3^|i^d1<'qT^nH

3^ ?TTfM % ^ ̂  ̂ t
(D) 3^

^■41 "t

1972 ̂  cl-tivifld (^w) 3rflTRm "fer
3^^ ̂  yi'^i ^ WU^ ^<,011 ? 69.
(A) TT^ 3^ 3ftT 31^1?nW ^

■^^rmr

(B) MfM % wmx "R ^
(C)

(D) y^diM ̂

S^

68.

3RTf3 3^:iHlRd
(half life) Rtxm f ?
(A) 5,00,000^ iftf^^
(B) 1^4 ftfc^ ̂
(C) 4^ 10 Rlfd<t]H ^
(D) 10 (nldijH 3#T^

WW ?737?Wi7 {Tm) ^ ̂  ̂  "I
(A)

(B)

(C)

(D)

^ WT^ 3TmT ^ ̂  ̂  TTSTT cT^
f cit, 3%?Rf ^ 31^^ ̂

f
(A) H4)di41'4
(B) fl^Nk
(C)

(D) Bg^wT^M

^ (3TT^) ^ ̂  ̂  31^ ̂  t
(A) td
(B) 33

(C)

(D) 1?

^TcAjzT ^
3I3qf^ ̂  t ^
(A) fl^kidkrRf^
(B) TT5F^kq#T^4
(C) 3m[?T*fk 33f "9
(D)

1824-A 20
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70.

71.

In calotropis procera commonly
called Ak or madar, the pollen
grains are aggregated into
clusters known as

(A) Bunches

(B) Translator

(C) Pollinia

(D) Retinaculi

Bacterial cell wall is composed of

which of the following ?

(A) Suberin

(B) Peptidoglycan or

mucopeptide

(C) Lignin

(D) Cellulose

72. Terminal heterocysts are found

in which of the following ?

(A) Nostoc

(B) Scytonema

(C) Anabaena

(D) Gloeotrichia

73. Usnea is an example of which of

the following ?

(A) Fruticose lichen

(B) Crustose lichen

(C) Foliose lichen

(D) Squmulose lichen

74. Which of the following is

diplanetic ?

(A) Pythium

(B) Rhizopus

(C) Altemaria

(D) Saprolegnia

75. Dolipore septum is characteristic

feature of which of the following ?

(A) Ascomycotina

(B) Basidiomycotina

(C) Mastigomycotina

(D) Deuteromycotina

76. Which of the following plant is

commonly used in bitter tonics ?

(A) Andrographis paniculata

(B) Withania somnifera

(C) Aloe vera

(D) Ocimum sanctum

77. Which element is necessary in

plant tissue culture media for
normal cell division, protein

synthesis, chlorophyll synthesis
and nitrate reduction ?

(A) Nitrogen

(B) Phosphorus

(C) Potassium

(D) Calcium
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78. RnRifed ̂  ̂

(A)

(B) ■

(C)

(D) HldlRdiM

79.

80.

^<rlR=hy lERTcft

JH-Ml'i RnRiRgd

^ ̂feT%^fpqTOHHr^5ncrrt ?

(A)

(B)

(C)

(D) ̂

v^ ̂ciiilni, 1^ 3fm^ ̂  nrcdk

Rnfcifed ^ fer ̂  t ̂iTRT ̂ OTT t ?

(A) ̂ TRT^

(B) ^1|41<N

(C) HJ®
(D) ̂ [TOI

81. ̂  ̂l<!<; ̂  % 1^ M<Mld

% ̂  ̂ ^ 41(s4l %

WT t

(A)

(B) 3r5FF ̂  (^"^IfSTT Wr)

(C) ̂  (iM ^)

(D)

82. t#T^ ̂  ̂  ̂ lift "tef ^

37T5^iMfM ̂  1^ # I ?

(A) ̂  ̂  ^ t ft dcM^dcfd

3TftoMRd ̂  3l^l[^cl "t

(B) % cltl% ̂  f^<IJHd Tr

fttdci "f

(C) ̂  1^ ̂  % *iteRq ̂

^ Mftd ̂  ̂ if^TOT I

(D) 3T#ffW"5r5m

% mm ̂ wtor ̂  t

83. fidlm % ̂  "ftn ̂ r ?r .

WT^T^t ?

(A) ftdlm % 3TTO1; ̂  1%^

McLI^M 3nTR ̂  t

(B) (Cri-du-chat)

ctiK"! itcTT t

(C) dWdd ftdim cT^ ̂  t ̂  ̂JPRJ^

TT?2T HFT ̂  "I

(D) ̂ JURJ^ % ̂  ̂ % ftdlm ^

3^FRirm|
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62. The best statement for food

web and species interactions in
ecological communities
(A) Food web display a

complexity of intertwined
internal interactions that

differ from simple linear food
chains.

(B) Basal species consume
others, while top predators
feed on basal and

intermediate species.
(C) Food webs are hierarchical,

with basal species at top and
predators at bottom.

(D) None of the above

63. An accurate description of
primary succession is

(A) It begins with species that
have already established a
community on the site

(B) It can takes place on site
such as sand dunes and

newly exposed glacial till

(C) The final stage of succession
typically involves the
dominance of grasses and
shrubs

(D) It requires high moisture
levels for successful plant
colonization

64. The aim of Wildlife (Protection)
Act, 1972 is to achieve

(A) Establishing national parks
and sanctuaries

(B) Increasing trade in wild
species g.g

(C) Promoting industrial
development 05-feh

(D) Eliminating exotic species

65. The estimated half life of a

species is

(A) 5,00,000 to 1 million years

(B) 1 to 4 million years

(C) 4 to 10 million years

(D) Over 10 million years

66. Pisum satiimm (matar) belongs to

family

(A) Fabaceae

(B) Poaceae

(C) Asteraceae

(D) Malvaceae

67. When the anthers are united

together and filaments are free,

the stamens are said to be

(A) Monoadelphous

(B) Diadelphous

(C) Polyadelphous

(D) Syngenesions

68. Type of fruit in Prunus (Peach) is
known as

(A) Berry

(B) Nut

(C) Caryopsis

(D) Drupe

69. Phloem parenchi/ma tissue is at

together absent in most of

(A) Diot stems

(B) Monocot stems

(C) Gymnosperm stems

(D) Diot roots
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zzV-bZ8T

(a)

hMyyh (o)

(a)

(v)

I

^ ̂

ii]^ % 2^ i^e lak^

'inh^ hl^^Jl h^iHit4 11

(a)

1>^IJ^>1 (O)

iityii^ (a)

P)U^<gijfi (V)

t I lb<^ jt tfetji? >h

iyMi£uy2h£ii^^ii%^^n^jj^p^ '9Z

(a)

(o)

(a)

(v)

i I ll^h^

(Ih)ii2i^i^hy^ -SZ

(a)

lt?}j^}?^lte (o)

i^hij^^h-i> (a)

hkl^ (v)

ht^blU) (a)

(o)

hqoMP (g)

kc^blU. U^lcbip^ (V)

i I ln>9l^P jt ktlj '£2,

(a)

Ihjj^lhh (O)

ihyf?m (a)

ShJ^ (v)

i |pj-|m2iiyi^

(a)

(o)

(g)

(V)

i |iJ4k

Ikk ^ ̂ hiy. lyi^ 'II

^.HE ^ ta)
^0 (o)

H (a)

^ j|Jta (v)

I ̂ )n^lH>h 'I il£

1^ h^lW)^^ I4lrj '01



84.

(B)

How euploidy can be
distinguished from aneuploidy ?

(A) Euploidy involves a total
chromosome number that

is not exact multiple of

a chromosome set, while

aneuploidy always results in
polyploidy organisms

Euploidy alters the number

of complete chromosomal set,
while aneuploidy involves

a change in number of a
particular chromosomes,

within a set

Euploidy is only in plants of
aneuploidy is only in animals

Euploidy takes place in
homologous chromosomes,

while aneuploidy takes in

any set of chromosomes

(C)

(D)

87.

88.

89.

85, The component which is most
likely to be found in lipid rafts

(A) GPI-anchored proteins and
signalling molecules

Unsaturated fatty acids and
hydrophilic enzymes

Proteins involved in

degrading cholesterol

DNA and nuclear protein

(B)

(C)

(D)
90.

86. Attenuation results, when which
regions of the 5' UTR pairs ?

(A) 1 and 3

(B) 2 and 3

(C) 3 and 4

(D) 2 and 4

Select the correct pair.

(A) : F - Factor absent

(B) F": F-Factorpresent, integrated

into bacterial chromosome

(C) F': F- Factor present as separate

circular plasmid, carrying some

bacterial genes

(D) Hfr : F - Factor present as

separate circular plasmid

Reduction or loss in vigour and

fertility is known as

(A) Inbreeding depression

(B) Average heterosis

(C) Heterobeltiosis

(D) Hybrid vigour

The first oncogene, called src,

was isolated from the

(A) Epstein Barr Virus (EBV)

(B) Rous Sarcoma Virus (RSV)

(C) Merkel Cell Polyvirus (MCPyV)

(D) Hepatitis C Virus (HCV)

In which technique DNA probe

can be used to determine the

chromosomal location of a gene,

while it is in the cell ?

(A) ELISA

(B) Western Blotting

(C) Ex-situ hybridization

(D) In-situ hybridization
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91. ^ 92. ^ ^ f|T^

J. tTTf^^

K.

L. wMtT

RiVlMdiit

1. jildldiK

f^R% armte? nm

itdT "I

2. "^f ̂ ^fhr M."^ci

3TRTFft (^)

smS "t ̂

^jfTcft "I Tnf%)

3.

3T35RST W ̂
W\R "I cT^

13;^ igE 3TRRft

(^RR) q-liai "I

(A) J - 1, K-2, L-3

(B) J-3, K- 1, L-2

(C) J - 1, K-3, L-2

(D) J-2, K-3, L - 1

0^
0^K

1. J. w %

2.W^tel?fe^^ K.

^ "I

3. I^d-^d-H L. mi^HI ^

"*71^ ̂ 1^ f (^3^.

?TT3R^ "^Pl^l)

^ (^^eM ̂  :

(A) 1 - L, 2 - J, 3 - K

(B) 1-K, 2-J, 3-L

(C) 1 - L, 2 - K, 3 - J

(D) 1 - J, 2 - L, 3 - K
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78.

79.

8Q.

81.

Which one of the following wheat

is hexaploid ?

(A) Triticum aegilopdides

(B) Triticum durum

(C) Triticum aestivum

(D) Triticum polonicum

The Kanis tribe uses trichopus

zeylanicus species travancoricus,

which is considered equivalent to

which of the following ?

(A) Ashwagandha

(B) Ginseng

(C) Aloe vera

(D) Turmeric

In Ayurveda, Atropa Belladonna

commonly known as Indian

Belladonna, is referred to as

which of the following ?

(A) Yabaruj

(B) Shaabiraj

(C) Suuchi

(D) Luffaah

The term that describe a variety

of an^ organism that continues

to produce the same trait after

several generations of self

fertilization

(A): Valient

(B) True-breeding line

(C) Monohybrid cross

(D): P generation

82. The loss-of-function alleles is

informative to geneticist because

(A) They provide clues about the
mutations affect the phenotype

expression of trait

(B) They are always inherited in a

dominant manner

(C) They help determine the

genotype of an organism

without examining the

phonotype

(D) They show how traits are

transmitted through asexual

reproduction

83. Which of the following is

the correct statement about

chromosomal deletion ?

(A) Phenot5p)ic consequences

of deletion always occur

regardless of their size

(B) Cri-du-chat S5mdrome results

from a deletion on the long arm

of chromosome 5

(C) Terminal deletion occurs

when a central fragment of a

chromosome in lost

(D) Deletion involving large

segments of a chromosome

tend to have less harmful

effect
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9ZV-i^eST

(a)

(o)

Irgjp ̂ (a)

vsna (v)

^ ̂ ^ 'I ih^.

iii^ % ih iMI % i4|L
lr|bhP tB|K VKa 5h *06

^ (aoh) mhi^ p (a)

^ (A^dOlAl) l^>[?lf^[p^h 1^ 1^ (o)

^ (ash) mMk l^tlQ^>l^> mi (a)

^ (Aaa) MMk Hk (v)

Ik iMilk%iil^

'I lim£i 1^ 0-is ̂'hy£4^k=J^ '68

(a)

(o)

Ri^jj^mi^e (a)

kuikte (v)

I milT' iSOa

^ yii Ik ̂ ̂ mkl^ ^^-u^K 1^J£ *88

kt^[h£ ̂ h;k %

>i9^iPiir iii^ tfeii <^>1^ - a : -ijH (a)

illill^
b\^ t^b^lbyiN ̂ 'Ph^hP ̂

>m\^\u ^y\'^ - d : (o)

k%Mi ̂

'kt^piL : _d (a)

m^hfe Ma>i^ -a : (v)

I thh. m h£ 'IS

MM
0^

kks (a)

■bke (o)

eks (a)

Ski (v)

d I mjl (hl^iSfc^tl) Hn^
h!kkifc^%Hii£%|klhJ^-k^% axn/9 *98

(a)
h[piK I^SIP \^ (3)

j^ kyik mMte (a)
Inie

Irl^Kf^ h[P(K 1^1 (v)
d I tk2Ja ̂ IhklJtiR

tfejyie ^ka ^ %ih ^ ashii '98

Ipka
ja ^ Sta

^ (pip h m^int; (a)

j3 IblQjIK t^bcb I

[pia h lht(h PlnTi^b Ubtta (O)
^ pch Pt^lkK \hSt\^ \^ I^InT;

<ykk'I
p ihs>i^ p ^inT? [p^iuv^ (g)
I pa pa ̂ PjL pdppik

<^b>u^ 'pi

l^lnfr ^ita iklnlt p^
Mp p piinK 1^ ̂ (v)

d I likka Ik lipj.
kkar iiikk a% ̂ p -irs



91. Match the tj^DC of lipid aggregates

with their characteristics.

Lipid

aggregates

J. Micelles

Characteristics

1. Spherical structure

with hydrophobic

region into

their interior

and hydrophic

head on the

surface

K. Bilayers 2. Two lipid

monolayers

form a 2 D

sheet that

fold into a

hollow sphere

to eliminate

hydrophobic

edge

L. Liposomes 3. Forms when

cross-sectional

area of the

head group

and acyl chains

are similar

creating a two

dimensional

sheet

Choose the correct answer :

(A) J - 1, K-2, L-3

(B) J-3, K - 1, L-2

(C) J - 1, K-3, L-2

(D) J-2, K-3, L- 1

92. Match the Upid types to their

likely location or role in

membrane.

Lipid Type Character/Function

1. Phosphotidylcholine J. Moves to the

Outer leaflet

during blood

clotting or

apoptosis

2. Phosphotidylserine K. Favour micelle

formation due

to large head

group

3. Detergents pike SDS) L. Common in

outer leaflet of

plasma

membrane (e.g.

RBC)

Choose the correct option :

(A) 1 - L, 2 - J, 3 - K

\^m

(B) 1 - K, 2 - J, 3 - L

(C) 1 - L, 2 - K, 3 - J

(D) 1 - J, 2 - L, 3 - K
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93. 94. "3T^ ^ Wm\ ̂  ̂

^  ̂ ̂  1^WT ̂  ^ ^ ^ Wt I

^ A ^B
(A) y[cl<^[rldi<u| % ̂TTi?T (Ddl^'^-d

1. J. it.tT^.XT. 3'^ 5"f^ ̂

STR.'Q^^.TJ. yI^H<

"5^ "^t ̂ ^ndT "t

2. Tr^2^-'^2^ K. (^) ^ 3TR.T3;^.i?;. l^c ̂

^.T^."^. 313^

^ ̂ ^ HAS ^ m c^dT t ^ T^
heI'F

3. L. "yg^^d: chlRlchI -dsb

^ ̂dT^ "t
(C) ̂ tditod ̂ fkr^ ̂.T^d."^. ■# dT?

ddRld/'d^ ^pRJd ddTdd;

■feft dT "^.l^d.Tr. "^rft TtdidT "I

(A) 1 - K, 2 - J, 3 - L

(B) 1-J, 2-K, 3-L (D) dT^ 3TTdTdTT 3Tgd^

(C) 1 - L, 2 - K, 3 - J wmK % i^d^d

^"ddJdT t(D) 1 - J, 2 - L, 3 - K
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93. Match the following components

related to nucleosome assembly

with their description :

Column A

1. H3-H,

tetramer

2. H2A-H2B

dimer

3. Histone

synthesis

Column B

J. Released

completely

from DNA

during

nucleosome

disassembly

K. Added freshly

made to new

synthesized \

DNA to fill in

the space

L. Primarily occurs

during s phase

of cell cycle

Choose the correct option :

(A) 1 - K, 2 - J, 3 - L

(B) 1 - J, 2 - K, 3 - L

(C) 1 - L, 2 - K, 3 - J

(D) 1 - J, 2 - L, 3 - K

94. The role of Telomerase in solving

"End Replication" problem is that

(A) Telomerase eliminates the

need of RNA primers during

replication by synthesizing

DNA to the 3' 5' direction

(B) Telomerase replinishes

telomere DNA sequences

using an RNA template

that is part of enzyme itself

allowing lagging strand

replication to be completed

(0) Telomerase prevent DNA

loss at chromosome ends by

forming circular chromosome

similar to bacterial DNA

(D) Telomerase prevent

chromosome degradation

by synthesizing short RNA

sequences at Telomerase
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95. ̂  96.

^ A ^ B

1. ̂ icrl^ j. H2O

03^
•sjqoiai

2. K. 37T^ ̂

CoA

^ WT t

3. WT3TT^#Efti( L.

% 1TT?2ITT ̂

37^d ̂

MRc^Rfd ̂  t

(A) 1 - J, 2 - L, 3 - K

(B) 1 ~ K, 2 - L, 3 - J

(C) 1 - L, 2 - J, 3 - K

(D) 1-J, 2-K, 3-L

97,

98.

99.

100.

3TI^TT*ft ̂  ̂ ^ (^STRcW)
^  3i3q1^ ̂  t ?

(A)

(B) ctoi#277

(C)

(D)

?

(A) "Hwf

(B)

(C)

(D) ̂

■fro ̂  ̂  ^rfM % ^
<^1Rl^l3ff ^ ^Rddddi MT% ^ t ?
(A)

(B)

(C) wM*73T
(D)

^  ̂ W ̂ilRT ̂  fd %
*S # a^Tcte ^ TT^t^ ̂  I
(A) T#^
(B)

(C)

(D)

fiRfe%TO *mJ5 wn WTI
(A) 3ikf^^
(B) ^
(C) ^#7^7W^Tf
(D)
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95. Match the component of Column 96.

A with Column B :

Column A Column B

1. Catalase J. Convert H2O2

into H2O and

02

2. p-Oxidation K. Sequentially

shortens fatty

acids to

produce Acetyl

CoA

3. Glyoxysome L. Specialized

peroxisomes

97,

98.

in plants that

convert fatty

acid to sugars

through 99,

glyoxylate cycle

Choose the correct option :

(A) 1 - J, 2 - L, 3 - K

(B) 1-K, 2-L, 3-J

(C) 1 - L, 2 - J, 3 - K

(D) 1 - J, 2 - K, 3 - L

100,

Vessels are absent in the

xylem of which of the following
angiosperms ?

(A) Mangifera

(B) Leptadenia

(C) Drimys

(D) Capparis

Decompound leaves are found in
which of the following ?

(A) Mustard

(B) Pea

(C) Coriander

(D) Citrus

In which of the following
chloroplasts are found in the
bundle sheath cells of leaves ?

(A) Ficus

(B) Sugarcane

(C) Polygonum

(D) Coriander

Presence of cystolith in the leaves
is an important anotomical
feature of the family

(A) Acanthaceae

(B) Brassicaceae

(C) Poaceae

(D) Malvaceae

Circinotropous ovule is found in

(A) Opuntia

(B) Ranunculus

(C) Chenopodium

(D) Piper
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101.

102.

103.

104.

(^^l"Ndl ̂ *t ?

(A) 4)1^(1 ̂  ^ tT

"fen "n^ ̂

(B) ^ t

(C) 3^ wr 3fk ^ ̂ f

(D) i^Rwln

PlHfdfed ̂  ̂ "fWNnf^

3fn:^ t ?

(A)

(B) #n^

(D)

Rnlcdfed ^ fer 911414)i^<i ̂  ̂nfer

MdHlnd Tf^fe fe ̂  ̂ % "fe fen

^rmrt ?

(A) fepTnfefesn

(B) i77fe$W7 V7?^nkw

(C) 57|fen'?c7S37

(D)

ferfekn ^

(A) % 3nfe 3ft ^ f

(B) ̂  ^ 3ft: ̂ 5RT^ ̂iFT^ nT
3d^ "i

(C) mRm<w Wid4>i^d Jlft<il4ii^<i ftft:

^ t

(D) t ^ ftnn<kT3 ̂  "I

hM

105. Rnftifed tftgfe^ 3^nR

3nfe? n^ % w? ̂  nff I ?

(A) RyTlcdi - •3d>:i4<ct)

(B) njfefttfe-nfe

(C) wffenr - nfe

(D) ifetfe-wf

106. ̂  % "Rft nr n^ "fftn

nrnr w ?

(A) fexftif

(B) 3ifthrTWiw

(C)

(D)

107. ̂  chl^cW % 3TWrr ^Rddddi

"nft ̂ jn^ "t

(A)

(B)

(C)

(D) ^

108. 1ft=T 4 ̂ vfit 4 fenftr "npn

^nnr "t ?

(A) /fer

(B)

(C) |ft=7r

(D) 3y/]S^w
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101.

102.

103.

104.

Which of the following is not
a distinguishing feature of
bryopsida ?

(A) Sporophyte is differentiated
into foot, seta and capsule

(B) Elaters are absent

(C) Rhizoids are simple and
without septa

■ (D) Peristome is present

Which of the following is an order

of class Hepaticopsida ?

(A) Calobryales

(B) Sphagnales

(C) Anthocerotales

(D) Polytrichales

Which of the following bryophytes
is used to cure pulmonary

tuberculosis ?

(A) Sphagnum ftmbriatum

(B) Marchantia polymorpha

(C) Dicranum elongata

(D) Polytrichum densifolium

Which one of the following
statement is not correct about

pteridophj^es ?

(A) These are primitive land

vascular plants

(B) These usually grow in cool and

shady places

(C) Mature sporoph5rte^s are
dependent on gametophjrtes

(D) They may be homosporous or

heterosporous

105. Which of the following

pteridoph5rte is not correctly

paired with its economic

importance ?

(A) Azolla - Biofertilizer

(B) Angiopteris - Food

(C) Lygodium - Food

(D) Diyopteris - Medicine

106. Quiescent centre in root tip was

first reported in which of the

following species ?

(A) Zea Mays

(B) Oryza Sativa

(C) Triticum Astivum

(D) Brassica Compestris

107. Chloroplasts are found in the

outer layers of the root cortex of

(A) Rosa

(B) Aerial roots of tinospora

(C) Nyctanthus

(D) Justicia

108. Velamen tissue is found in roots

of which of the following ?

(A) Pisum

(B) Bryophyllum

(C) Dracaena

(D) Orchids
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109. ^ ̂

^  ̂ ̂ ̂ W ?

(A) ■SiAh

(B) ■

(C)

(D) ^

110. 1|#5P# tro "A

t ?

(A) 37#^

(B) t#77

(C)

(D)

111. ^ 3Rik RMl^fed "A ^
W  lArsn ^TTcTT t ?

113. 'xTiTihT^-A^' ^ I

(A) IsAlfeil^ sA^fed ^T^-

(B) l^sA^fed
HTcrfly,l5hciiHi^s ii-ddH

(C) AIIS'M^ l^sA^(^jd -
MTcrfliJ.isbdWI^S ^

(D) iAi^i!^-MTc{liJ.l^dlMl^S
3^ddiu|

114. #3;^ aAi
^260^^^ ̂  3T^^ftw cf^ I

(A) ^5fti%cT 3Tk ^ ̂

(B)

(C)

(D) %-dlidftchTTT%d^3A

112. 4dA\Ad ̂  ̂  4d1AsblH ^ ̂  3<l^<ui

(A) ^

(B) mV^H ^

(C) ^AilR^-^H ̂

(D) ittrcftsTTf^

M

116.

(A)

(B)

(C)

(D)

1

2

3

4

fiitld>Jl^ 13;^ ^Fft%fed 1¥^ t
3qA\TT RHfcdfikd ^ ̂  ̂  lA^rfftcf

% feT^ R)^l ^Idl % ?
(A) ^ 37^3fr ^ 1 it
(B) ^ 37^3A •# 2 it ir^RT
(C) % 37^3A ^ 3 it
(D) ^ 37^3^ # 4 it

3Ad<^Rj| ^ ^ wi^tAMd ̂
"t ?

(A) Ft#iMd
(B) Trf^AMd
(C) twRitd
(D) lifedli^d
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109. Tunica-Corpus theory regarding

apical meristem was given by

which of the following ?

(A) Dermen

(B) Schmidt

(C) Foster

(D) Cutter

110. Which dicotyledonous taxa

possesses scattered vascular

bundles in the stele ?

(A) Avena

(B) Dracaena

(C) Helianthus

(D) Papaver

111. Light microscopes are used to

view which of the following ?

(A) Both alive and fixed

specimens

(B) Alive specimens only

(C) Fixed specimens only

(D) Non-real colour specimens

112. An example of fluorescent dye or

fluorochrome is a

(A) Trichrome dye

(B) Feulgen's dye

(C) Haematoxylene dye

(D) DAPIdye

113. Expand 'SDS-PAGE'.

(A) Disodium dodecyl sulfate-

polyacrylamide gel
electrophoresis

(B) Sodium dodecyl sulfate-

polyaciylamide gel
electrophoresis

(C) Sodium didodecyl disodium
sulfate-polyacrylamide gel
electrophoresis

(D) Sulfate dodecyl sodium-
polyaciylamide gel
electrophoresis

114.

115.

116.

The relationship between DNA
concentration and absorption is
linear upto an absorption at

A260 nm of

(A)

(B)

(C)

(D)

1

2

3

4

Crystallography is a biophysical
method used to determine which

of the following ?

(A) 1 D stmcture of biomolecules

(B) 2 D structure of biomolecules

(C) 3 D structure of biomolecules

(D) 4 D structure of biomolecules

The siphonostele with

overlapping leaf gaps is known as

(A) Solenostele

(B) Actinostele

(C) Haplostele

(D) Dictyostele
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117.

118.

119.

eIh

PlHRifed ̂  %

(A) ^ TT^ W Wf# I

(B) ^ %q ̂  ̂ t

(C) fWtFTk^ 4 %q ̂  aiftR^

(D) (rl^l'WlTrilLJ.d ^TT^^tfen^ 3ftT

^  f

RnRdfed ̂  ̂

wl<l4>l^<-H ^i^dif^d ̂  f ?

(A)

(B)

(C)

(D)

^Mt W <4>^dlcn t

(A) T??^

(B) Ajiiw1<^^

(C) ^T(r^Adl

(D) ttor

120. ticB Rnfcifed ̂  ̂
■feET^ ?

(A) yj^-^nwT

(B) wriimTjf^

(C) ¥77W

(D) 3m0^

121. ^<l41 5Q1M % 1^ y^lRl ̂
3q^"f^^indTt ?
(A)

(B) U.dl^<l
(C)

(D) ^fiTT

122. 3^ ^ % ^TT#5T
tm ̂  ^ wik
"ten ̂ 3TM ^ ?

(A)

(B)

(C)

(D) 3Te^^t^Tf^

123. ^ ̂JRxT ^ ̂  ̂
cTT^ ^ "fen ^fkr^ ^

JH^I-ildl^^cMlI^dl^^ ^ ?

(A) i

(B) 5^y^RHT

(C)

(D) ^R*ri|lJ.Ri4H

124. ^TRcT'^ h4(1^H "g^RT ^Iftd
^ ̂ ^ ̂  PlMlcifed

^ M-dldl ^ 3{f^I^
^Trikf^^rmrt ?

(A)

(B) TJ^€tiH
(C)

(D) AdHH
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117.

118.

119.

120.

Which of the following is not true
about antheridium of pteropsida ?

(A) Antheridial wall is single

layered

(B) Cap cell is present in ,

homosporous ferns

(C) There is no cap or opercular

cell in heterosporous ferns

(D) In leptosporangiate type,
the antheridia are large ,
massive and produce over

100 spermatozoids.

Sporoph3rtes are rootless in

which of the following group of
pteridophytes ?

(A) Lycopsida

(B) Sphenopsida

(C) Psilopsida

(D) Pteropsida

The inner most layer of wall of

megasporangium in lycopsida is
known as

(A) Endine

(B) Megaspore mother cell

(C) Columella

(D) Tapetum

Sandarac, a hard resin, is
obtained from which of the

following ?

(A) Firms nigra

(B) Picea abies

(C) Callitris glauca

(D) Agathis australis

121. Which genus is used for treating

chronic dysenteiy ?

(A) Stiychnos

(B) Aloe vera

(C) HoUarrhena

(D) Curcuma

122. Which process is used to prepare

silage from stalks of plants like

corn and sorghum ?

(A) Aerobic fermentation

(B) Anaerobic fermentation

(C) Lactic acid fermentation

(D) Alcoholic fermentation

123. The first transgenic tobacco

plants expressing engineered

foreign genes were produced with

the help of which bacterium ?

(A) E. Coli

(B) Agrobacterium tumefaciens

(C) Pseudomonas syringae

(D) Bacillus thuringiensis

124. Which one of the following plant

species are most commonly used

by the nurserymen in India for

transportation of live plants from

one place to another ?

(A) Anomodon

(B) Entodon

(C) H3^num

(D) Sphagnum
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125.

126.

127.

128.

129.

^ ̂ ^ "m] ̂

^ ^ t

^ TT^ ^ "^ft ̂  3TOT ̂  ̂rl^ticH % ?
(A)

(B) iMrr

(C)

(D) Mm

ftR ̂ ̂  3n3

■rax ̂  fMRm ifciT t ?
(A)

(B) Himr IJl
(C) wm^
(D) v)^

1Mt ^ ̂  %Fm WTT^ ̂  WM
?

(A) Mf^-ill
(B)

(C) wf^
(D)

WTT WT| ?

(A) 9few^</
(B)

(C)

(D)

faijldl W WTT WT t

130. ^ ^
■f^vR% "gKT <al^i "W ?

(A)
(B)
(C) Hdl^H
(D) Wfe

131.

132.

(A)

(B)

(C)

(D)

1S24-A 40

^f%uT ^ "PFTf^rter "91
^mFT ^ % RFT

gm % f^ ̂  %
^ ^ WR WT
t, ̂  R^-dlPi=bi
^CRtilPl'Ml t^hTdfl-d Mr ̂  «HNI

"I ?
(A) 3fk
(B) TRtg^ 3fk ̂
(C) g^HdRM
(D) RTW, 3^: RdHl^

cilcKvlfdJII

'■f^ ^TSTjfm ^
(ygil-M Mt ̂  kw

31TR ^ fen t, fe 1988
nrfer g^ % ^^nkrfe fek ̂

w m I

^ ̂  ?
(A) ^

(C) ^nTRTT^fer
P) M.

133. 'cfk fe*r ̂ fet' % ffe ̂  3Tfe
Rb^i c<nri nrmte) brft "t

(A) ftffer^ngfe
(B) fer^ 3fife^iMr
(C) ^nfemfen
(D) fefemfe



125.

126.

127.

128.

129.

Which of the following terms
refers to the smallest unit of

sound in a language that can
distinguish one word from
another ?

(A) Syllable
(B) Phoneme

(C) Morpheme
(D) Grapheme

Bisporic 8-nucleate type of
embryosac development takes
place in which of the following ?
(A) Oenothera

(B) Adoxa

(C) Plumbago

(D) Allium

Pollination through bats takes
place in which one of the
following ?

(A) Kigelia africana

(B) Aristolochia

(C) Salvia

(D) Vallisneria

Mosaic endosperm is found in
which of the following ?

(A) Passiflora calcarata

(B) Zea mays

(C) Annona squamosa

(D) Verbascum montanum

Cypsela type of fruit is found in

(A) Sunflower

(B) Datura

(C) Mustard

(D) Apple

130. Who discovered the phenomenon
of double fertilization in

angiosperms ?
(A) Strasburger
(B) Amici

(C) Navaschin
(D) Schnarf

131. In Dakshina Kannada

district, which of the following
communities practice the custom
of earmarking portions of crop
land as 'Bhairavavanas' in the

name of lord Bhairava, where
trees like strychnos, nux vomica
and Alstonia scholoris are

maintained ?

(A) Tuluva and Konkanis
(B) Rajputs and Jains
(C) Kannada Muslims
(D) Marathi Naika, Male Kudiya

and Malnad Vokkaliga

The World Wildlife Fund (WWF),
US has supported a local ethno
botanical garden in the Sibundoy
valley of Columbia, which was
established in 1988 by an Indian
origin Pedro Huajibioy-Chindoy.
He belonged to which indigenous
group ?
(A) Kosi
(B) Yanomami
(C) Kamsa Indian
(D) Zulu

133. The most commonly used
traditional remedy for 'Three day
sickness' is

(A) Ricinus communis
(B) Zingiber officinale
(C) Ocimum sanctum
(D) Cinnamomum verum

E 132.
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134.

135.

136.

^  ̂ oillMcb

^ ̂ wn t, PinRdR^d ^

^^3rRr#^t ?

(A) Ol^c^d

(B)

(C)

(D) ̂

3RMr 2,4-D ̂  Rim

Rnldfed ̂  t fro % "^Fik ̂
RT^^pt ^MlciRd -did^h

xMa I ?
(A)

(B)

(C) I^^lilfcdd
(D)

:5Tf5Fti^ (^M) ^
PinlciRad ^ ̂  "f^k"! % kiy,

3q^RTl^ wr t ?

(A)

(B) ^R^RT

(C) RT«2fte^k?5RT

(D)

(A)

(B) 3m*ft

(C)

(D)

Bis

138.

139.

140.

137. RMfdfed ̂  ̂ %?T 4R ̂

^^3TRT WT t ?

1824-A 42

arflr^ ^Ti^dRM ■# 1^ 3R7RT ̂
^ "SR^TRT kh'Ml ^idl "I ?

(A) XRpft

(B) "RT^

(C) ^mRW^

(D) TTR^^fTfd

Tj;^ yfrfR ^ 37R4 % fciy.
^  "^irrfl cRi^te "I

(A) 3TTfTr?TTr^
(B) 3n^ "(RT "Q^
(C)

(D) -Trq^arrf

Mw^l ?

(A) yki^lci ^ -yf^ 3^

(B) 3^
(C) JdlARd> 31^
(D) 3ftT yf^^fci ■#

3^

^ ^ ̂jfNrf^oRi '^Ri^i3Tf 4^ "^rfei
^FJT%RnRT t ?

(A) DNARRM^
(B) RNARRM^
(C) DNA y(d<J>fcl
(D) (A)R(B)^



134.

135.

Kuttu flour, widely consumed
during the *Navaratras' is derived
from which of the following
plants ?

(A) Buckwheat

(B) Wheat

(C) Rice
(D) Barley

In most cereals, callus tissue
exhibits organogenesis when
transferred from a medium

containing 2,4-D to a medium
with which of the following plant
hormones ?

(A) Cytokinin

(B) 1. Naphthalene acetic acid

(C) Gibberellins

(D) Abscisic acid

136. Circular dichroism (CD)

spectroscopy is used to determine

which of the following ?

(A) Quaternary structure

(B) Tertiary structure

(C) Secondary structure

(D) Primary structure

137. Lymphocytes are also known by

which of the following names ?

(A) WBC

(B) RBC

(C) Plasma

(D) Platelets

138. What light source is used in most

of the flow cjTometers ?

(A) White light

(B) Laser light

(C) Visible light

(D) LED light

139. A technique used to differentiate

genomes of a hybrid is

(A) ISH

(B) FISH

(C) GISH

(D) Interphase - FISH

140. Which of the following are the

characteristics of a vector ?

(A) Origin of replication, restriction

site and host marker

(B) Transgenic genome and host

marker

(C) Telomeric sequences and

restriction sites

(D) Mitochondrial genome and

origin of replication

141. Rifamycins are a group of
antibiotics that kill bacterial cells

by inhibiting

(A) DNA polymerase

(B) RNA polymerase

(C) DNA replication

(D) (A) and (B) both
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142.

143.

144.

145.

146.

147.

148.

^ wt| ?

(A) 3'-UTR

(B) 373^

(C) fiRTOWTO
(D) ^

31^frTr31RTt-RNA%feT^^^| ?
(A) 5' f^ra
(B) 3' "RrI
(C) xyt^^55TT
(D) DHU3^

313^ ^ 1^^ 3Tf^ %
^kR 3TTftRr ^ ^ 149.
I^Tlk ^ -irtlRd ̂  t ?
(A) t-RNA

(B) r-RNA

(C) 3*frftWf^ t-RNA
(D) ioTkm G (f^-G)

qf^c^ ̂  (S'=t> 3hT^<h 3^1^
(A) 3^^ 3Ttel ̂
(B) 3ffW^ ̂
(C) ^

(D) ^ ̂ ̂  ̂ 150.

PlHf^RaO ̂  ̂ ^ 'H35 3H4^ "Q^n^
%  ̂  ̂ 3pia ̂  "t ?
(A) - -RTf^
(B)

(C)

(D)

RnRdfed ̂  % '^-w ̂  ̂ ̂ ̂jter
w| ?
(A) 4l(rfl'9i<l5S - RTe€kr
(B) " TTk#si
(C)

(D)

0BS

fF#rfecT ^ ̂r ^-HT ̂ iSR,

(A) ^ ̂  1^ ̂  ̂ ^

(B) 4dllJ,M ^ WRcRtri ̂  %
Wnte ̂  1^ w t

(C) W ̂  3TT3S % ̂  ̂ ̂'MIM-cI'M ̂
^nidRd

WT t

PiMl^Rgcl ^ <4^4-^ 3^ WRT, Hl-il ^

ciw 3^ 3ftihT "t, -Hl^dlshln
b6f ^700 % ̂

^^nidRd WT t ?

(A)

(B) MI^I^I'MRh

(C) ATPft^

(D) ̂ FT^^tPR

fi^Icifiaa ̂ ^ "^H-'?ff Ish'Hi

3R^m 37^^^ t ?

(A) 1, 5-feT ""T^Rte + CO2 +
H2O ̂  2 3-W7¥M5

(B) 1, 3-feT
+ H"" -> 3-^R^ +

TTq^M"" + Pi

(C) 7--q^Rte +
S-'TOfe

5-M>R%S + S-'-bl'Ad.

(D) R®iidl^ 5-^lAd +3M ̂  Rc^d!^
1,5 RuH'-hl'iAid + + H
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142. Which sequence serves as the
ribosome binding site during
translation in bacteria ?

(A) 3'-UTR
(B) Shine dalgamo sequence
(C) Pribnow box
(D) Protein coding region

143. Amino acids binds to which part
of the t-RNA?

(A) 5'end
(B) 3'end
(C) Anticodon arm
(D) DHUarm

144. In elongation process of
translation the creation of

peptide bonds between amino
acids is catalyzed by
(A) t-RNA
(B) r-RNA
(C) aminoacyl t-RNA S3nithetase
(D) elongation factor G (EF-G)

145. The Lac operon of E.Coli is an
example of a
(A) Negative repressible operon
(B) Repressible operon
(C) Negative inducible operon
(D) None of the above

146. Which of the following group
^ is not paired correctly with its
enzyme ?
(A) Esterases - Lipase
(B) Amidases - Pepsin
(C) Carbohydrases - Cellulase
(D) Proteolytic enzymes -

Peptidases

147. Which of the following is paired
correctly ?
(A) Polysaccharide - Maltose
(B) Monosaccharide - Erythrose
(C) Oligosaccharides - Glycogen
(D) Monosaccharides - Inulin

148. Which of the following statement
is not true about phloem
translocation ?

(A) Sap in the phloem is
translocated exclusively in an
upward direction

(B) Translocation in the phloem
is not defined with respect to
gravity

(C) Sap is translocated from
areas of supply to areas of
metabolism or storage

(D) Carbohydrates are the most
significant and concentrated
solutes in phloem sap

149.

150.

Which of the following is a small,
water-soluble, copper containing
protein that transfers electrons
between c5rtochrome b6f complex
and P700 ?

(A) Phaeophytin
(B) Plastocyanin
(C) ATP synthase
(D) Violaxanthin

Which of the following reaction is
from reduction phase of Calvin-
Benson cycle ?
(A) Ribulose 1, 5-bis phosphate

+ CO2 + H2O ̂
2 3-Phosphoglycerate

(B) 1, 3-bis phosphoglycerate +
NADPH + glyceraldehyde
3-phosphate + NADP"*" + Pi

(C) Sedoheptulose 7-phosphate +
glyceraldehyde 3-phosphate
ribose 5-phosphate + Xylulose
5-phosphate

(D) Ribulose 5-phosphate + ATP
^ Ribulose 1,5 bisphosphate
+ ADP + H""
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